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R2M1Seg00: 'alignment
position: [0.6 * mm, 0.0 * mm, 0.0 * mm]
rich2_reco_opts.ymliotation: [0.6 * mrad, 0.0 * mrad, 0.0 * mrad]
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fit_conf: ‘\every session
plotDir: /group/swdev/asolomin/rich_align_run3
workDir: /grou /swdev/asolomin/riW - - p
fixSinusoigShi?t- true = 22-07-20T21-10_rich2_minp60_subset_2022data40k_Produce_conds_il.yml
sinusoidshift: o. R2M1Seg00: !'alignment

e position: [0.0 * mm, 0.0 * mm, 0.0 * mm]

zeroGlobalFitMean: false rotation: [0.0 * mrad, 0.028628 * mrad, 0.0 * mrad]




